
MATHS
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SETS

Example

1. Let A = { 2,3,4,5,6 } and B = { 4,6,8,10 } Find 

Watch Video Solution

A ∪ B

2. Let A = A uu B .`

W h Vid S l i

{2, 4, 6, 8, 10} and B = {3, 6, 9}F ∈ d

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_72pPudeDuH1u
https://dl.doubtnut.com/l/_PesvRX47VyMP


Watch Video Solution

3. Let A 

Verify that : 

Watch Video Solution

= {a, b, c, d} = B = {b, c, e) and C = (d, e, f)

A ∪ B = B ∪ A

4. Let A 

Verify that : 

Watch Video Solution

= {a, b, c, d} = B = {b, c, e) and C = (d, e, f)

(A ∪ B) ∪ C = A ∪ (B ∪ C)

5. Let A = { 2,4,6,8, 10, 12 } and B = { 3,6,9, 12,15, 18) Find A ∩ B

https://dl.doubtnut.com/l/_PesvRX47VyMP
https://dl.doubtnut.com/l/_twOlV4x9lM4B
https://dl.doubtnut.com/l/_qHWkMeuraRt7
https://dl.doubtnut.com/l/_pyrRh1ldwBwe


Watch Video Solution

6. Let  is a factor of 12 } and N{ x: xis a factor of

16} Find 

Watch Video Solution

M = {x : x

M ∩ N

7. Let P =  is a positive integer 

Watch Video Solution

{x : x , x < 6}

8. Let A = { 2,3,5,7,9 } and B = { 2,3,4,5,6} Find A - B and B - A

Watch Video Solution

https://dl.doubtnut.com/l/_pyrRh1ldwBwe
https://dl.doubtnut.com/l/_ikqGhUIbv0Z2
https://dl.doubtnut.com/l/_Jh8Y9zEfu3Jj
https://dl.doubtnut.com/l/_lLnXMQVX3SYu
https://dl.doubtnut.com/l/_e8njBh7M4Zck


9. Let M = { 3,6,9, 12, 15} and N= { 6, 12, 18 , 24 } . Find M- N and

N- M

Watch Video Solution

10. In a class of 45 students each one plays either Cricket or

Hockey. If 30 play Cricket and 27 play Hockey then : 

how many play both Cricket and Hockey ?

Watch Video Solution

11. In a class of 45 students each one plays either Cricket or

Hockey. If 30 play Cricket and 27 play Hockey then : 

how many play Cricket only ?

Watch Video Solution

https://dl.doubtnut.com/l/_e8njBh7M4Zck
https://dl.doubtnut.com/l/_7xZrrqBa6FVK
https://dl.doubtnut.com/l/_gWQCNNXmZNgd


12. In a class of 45 students each one plays either Cricket or

Hockey. If 30 play Cricket and 27 play Hockey then : 

how many play Hockey only ?

Watch Video Solution

13. In a group of 50 people . 31 like tea , 20 like coffee and 6

like both tea and coffee. 

how many like tea only ?

Watch Video Solution

https://dl.doubtnut.com/l/_gWQCNNXmZNgd
https://dl.doubtnut.com/l/_B3EihxbGwVOZ
https://dl.doubtnut.com/l/_5VOiBKTi6fJi


14. In a group of 50 people . 31 like tea , 20 like coffee and 6

like both tea and coffee. 

How many like coffee only ?

Watch Video Solution

15. In a group of 50 people . 31 like tea , 20 like coffee and 6

like both tea and coffee. 

How many like none of tea and coffee ?

Watch Video Solution

16. It is found that out of 100 students .25 can drive neither a

scooter nor a , while 15 can drive both these and 52 of them

can drive a scooter . How many can drive a car?

https://dl.doubtnut.com/l/_vnpsQgVwOnyA
https://dl.doubtnut.com/l/_FAhBim0X2sFy
https://dl.doubtnut.com/l/_wLDzeJyxoFDG


Exercise 6 A

Watch Video Solution

17. In a class of 50 pupils ,20 have offered French but not

Hindi and 32 have offered French . 

How many have offered both ?

Watch Video Solution

18. In a class of 50 pupils ,20 have offered French but not

Hindi and 32 have offered French . 

How many have offered Hindi but not French ?

Watch Video Solution

https://dl.doubtnut.com/l/_wLDzeJyxoFDG
https://dl.doubtnut.com/l/_oaNdQNq1hS1F
https://dl.doubtnut.com/l/_w8JIUosOKEPF


1. Which of the following collections are sets? 

All books in your school library ?

Watch Video Solution

2. Which of the following collections are sets? 

All red flowers in a park.

Watch Video Solution

3. Which of the following collections are sets? 

All good players in your school.

Watch Video Solution

https://dl.doubtnut.com/l/_ojoAylPK06xa
https://dl.doubtnut.com/l/_aUntxvJE4xs6
https://dl.doubtnut.com/l/_NriIjNbxeJW7


4. Which of the following collections are sets? 

All fictions movies

Watch Video Solution

5. Which of the following collections are sets? 

All easy problems in your book on mathmatics.

Watch Video Solution

6. Which of the following collections are sets? 

All poor people in Mumbai.

Watch Video Solution

https://dl.doubtnut.com/l/_0FknCURBE1oV
https://dl.doubtnut.com/l/_iUNiWyXNcbg1
https://dl.doubtnut.com/l/_y03c5Vxhortk
https://dl.doubtnut.com/l/_5FjAAdFw8Odx


7. Which of the following collections are sets? 

All boys in your class weighing less than 50 kg.

Watch Video Solution

8. Which of the following collections are sets? 

All persons are repute in your colony .

Watch Video Solution

9. Which of the following collections are sets? 

All even number greater than 100.

Watch Video Solution

https://dl.doubtnut.com/l/_5FjAAdFw8Odx
https://dl.doubtnut.com/l/_sBzRr8iIIlRX
https://dl.doubtnut.com/l/_Lc4gbUCHgIEE


10. Which of the following collections are sets? 

All integers less than -5.

Watch Video Solution

11. Write each of the following sets in Roster form: 

A = set of all prime numbers between 70 and 100.

Watch Video Solution

12. Write each of the following sets in Roster form: 

B = set of all whole number less than 8.

Watch Video Solution

https://dl.doubtnut.com/l/_zH3HSUOKCHyZ
https://dl.doubtnut.com/l/_FG8cK8a0TDbt
https://dl.doubtnut.com/l/_queomJKCWDCB
https://dl.doubtnut.com/l/_WzE1j7fzOPQA


13. Write each of the following sets in Roster form: 

C = set of all integers lying between -7 and 2.

Watch Video Solution

14. Write each of the following sets in Roster form: 

D = set of all composite numbers between 23 and 33.

Watch Video Solution

15. Write each of the following sets in Roster form: 

E = set of letters in the word ,' MATHMEATICS''

Watch Video Solution

https://dl.doubtnut.com/l/_WzE1j7fzOPQA
https://dl.doubtnut.com/l/_8hAD9EFGx0ji
https://dl.doubtnut.com/l/_CvT4PPdHwLbm


16. Write each of the following sets in Roster form: 

F = set of consonants in the word ,''SECONDARY''

Watch Video Solution

17. Write each of the following sets in Roster form: 

G= st of vowels in the word ,'' INTERMEDIATE''

Watch Video Solution

18. Write each of the following sets in Roster form and write

the cardinal number of each . 

A= { x: x is an integer , - 3 < x  4}

Watch Video Solution

≤

https://dl.doubtnut.com/l/_3XKk2vupKfs6
https://dl.doubtnut.com/l/_d8iWenfBuNMV
https://dl.doubtnut.com/l/_DsFFIZM8ceV4


19. Write each of the following sets in Roster form and write

the cardinal number of each . 

B = {x : x 

Watch Video Solution

∈ N, 3x − 6 < 9}

20. Write each of the following sets in Roster form and write

the cardinal number of each . 

C = 

Watch Video Solution

{x : x = n2, n ∈ N, 10 < n < 16}

21. Write each of the following sets in Roster form and write

the cardinal number of each . 

https://dl.doubtnut.com/l/_DsFFIZM8ceV4
https://dl.doubtnut.com/l/_9vpsWjeDf5DB
https://dl.doubtnut.com/l/_Ee5zBDAq1pez
https://dl.doubtnut.com/l/_6YQAyH7Huvvp


D = 

Watch Video Solution

{x : x ∈ W , x − 3 < 2}.

22. Write each of the following sets in Roster form and write

the cardinal number of each . 

E = 

Watch Video Solution

{x : x = 2n − 1, n ∈ N and n < 6. }

23. Write each of the following sets in Roster form and write

the cardinal number of each . 

F = { x: x is a letter in the word ' COMMON'}

Watch Video Solution

https://dl.doubtnut.com/l/_6YQAyH7Huvvp
https://dl.doubtnut.com/l/_5sIcVLIORfwc
https://dl.doubtnut.com/l/_g4leaRhos1ZB
https://dl.doubtnut.com/l/_U6rXRRnAfDhg


24. Write each of the following sets in Roster form and write

the cardinal number of each . 

G = {x: x is a primary colour }

Watch Video Solution

25. Write each of the following sets in Roster form and write

the cardinal number of each . 

H= {x: x is a digit in the numeral 2362}.

Watch Video Solution

26. Write each of the following sets in Roster form and write

the cardinal number of each . 

J = {x : x = , n ∈ N, 4 < n < 10}
1

n

https://dl.doubtnut.com/l/_U6rXRRnAfDhg
https://dl.doubtnut.com/l/_i5YL5jNVLSae
https://dl.doubtnut.com/l/_wNTaqk6M3DXF


Watch Video Solution

27. Write each of the following sets in set- builder form : 

Watch Video Solution

A = {4, 6, 8, 9, 10, 12, 14, 15, 16, 18}

28. Write each of the following sets in set- builder form : 

B = {1,2,3,5,6,10,15,30 }

Watch Video Solution

29. Write each of the following sets in set- builder form : 

C = {-9,-6,-3,0,3,6,9,12,15}.

https://dl.doubtnut.com/l/_wNTaqk6M3DXF
https://dl.doubtnut.com/l/_pwZeNssHKvHr
https://dl.doubtnut.com/l/_xX8khk7ajj9N
https://dl.doubtnut.com/l/_YIEgDluRHEEe


Watch Video Solution

30. Write each of the following sets in set- builder form : 

Watch Video Solution

D = { , , , …. }.
1

2

2

3

3

4

8

9

31. Write each of the following sets in set- builder form : 

Watch Video Solution

E = { , , , , , , }
1

3

1

5

1

7

1

11

1

13

1

17

1

19

32. Write each of the following sets in set- builder form : 

F= [April , June , september , November}.

W t h Vid S l ti

https://dl.doubtnut.com/l/_YIEgDluRHEEe
https://dl.doubtnut.com/l/_uvCxex561Q6k
https://dl.doubtnut.com/l/_LbLItuhVzvBK
https://dl.doubtnut.com/l/_RXjF2m0XFVcb


Watch Video Solution

33. Write each of the following sets in set- builder form : 

G= {0} .

Watch Video Solution

34. Write each of the following sets in set- builder form : 

H= {.}

Watch Video Solution

35. State whether the given set is finite or infinite. 

Set of all even natural numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_RXjF2m0XFVcb
https://dl.doubtnut.com/l/_O0yrU7tlQQ8Z
https://dl.doubtnut.com/l/_I5Uk6nMRhTY8
https://dl.doubtnut.com/l/_VCQbvgV7FkeN


36. State whether the given set is finite or infinite. 

Set of all odd intergers.

Watch Video Solution

37. State whether the given set is finite or infinite. 

Set of all rivers in India.

Watch Video Solution

38. State whether the given set is finite or infinite. 

Set of all points on a line segment 1 cm long .

Watch Video Solution

https://dl.doubtnut.com/l/_VCQbvgV7FkeN
https://dl.doubtnut.com/l/_cwKYfcKhNCOX
https://dl.doubtnut.com/l/_72VANnaNxCYl
https://dl.doubtnut.com/l/_ORJd7LUZDEpE


39. State whether the given set is finite or infinite. 

Set of all factors of 1200 .

Watch Video Solution

40. State whether the given set is finite or infinite. 

Set of all multiples of 6.

Watch Video Solution

41. State whether the given set is finite or infinite. 

Set of all drops of water in a bucket.

Watch Video Solution

https://dl.doubtnut.com/l/_ORJd7LUZDEpE
https://dl.doubtnut.com/l/_aLrHa3BZHlX4
https://dl.doubtnut.com/l/_paId2bjfkzPz
https://dl.doubtnut.com/l/_FSdEAAjra6Jd


42. Identify the null sets among the following 

A = { x: x is a whole number , }

Watch Video Solution

x < 1

43. Identify the null sets among the following 

B = { x: x is a number }

Watch Video Solution

, x > x,

44. Identify the null sets among the following 

C = {x: x is an even prime number } .

Watch Video Solution

https://dl.doubtnut.com/l/_oDI8l3ie4RGB
https://dl.doubtnut.com/l/_30YmZOTPh0Iq
https://dl.doubtnut.com/l/_VAOVHHZIFFRC
https://dl.doubtnut.com/l/_ZuM5FdIKW9CT


45. Identify the null sets among the following 

D= {x : x 

Watch Video Solution

∈ I, x2 = − 4}

46. Identify the null sets among the following 

E = {x: x is a perfect square number 

Watch Video Solution

, 40 < x < 50}

47. Identify the null sets among the following 

F = {x : x 

Watch Video Solution

∈ N, 5 < x < 6. }

https://dl.doubtnut.com/l/_ZuM5FdIKW9CT
https://dl.doubtnut.com/l/_rB4czohcCDno
https://dl.doubtnut.com/l/_G7ksVIPnKriO


48. Identify whether the given pair consists of equal or

equivalent but not equal sets or none: 

A = set of letters of the word 'FLOWER' 

B = set of letters of the word ' FOLLOWER'

Watch Video Solution

49. Identify whether the given pair consists of equal or

equivalent but not equal sets or none: 

C = {x: x 

Watch Video Solution

∈ N, x + 5 = 6} and D = {x : x ∈ W , x < 1}.

50. Identify whether the given pair consists of equal or

equivalent but not equal sets or none: 

https://dl.doubtnut.com/l/_WzqpN8q1MDGh
https://dl.doubtnut.com/l/_Nt7JAsLA2p06
https://dl.doubtnut.com/l/_5wCIfBuN9laT


E= set of first five whole numbers. 

F = set of first five natural numbers.

Watch Video Solution

51. Identify whether the given pair consists of equal or

equivalent but not equal sets or none: 

G= {a,b,c} and H={x,y,z}

Watch Video Solution

52. Identify whether the given pair consists of equal or

equivalent but not equal sets or none: 

J= 

Watch Video Solution

{x, x ∈ N, x ≠ x} and K = {x : x ∈ N, 6 < x < 7}.

https://dl.doubtnut.com/l/_5wCIfBuN9laT
https://dl.doubtnut.com/l/_uLVmf23DsvzX
https://dl.doubtnut.com/l/_oDyKITt17mC2


53. For each of the following pairs of sets , identify the

disjoint and overlapping sets: 

A = { x: x is a prime number  } 


B = {x: x is an even natural number , } .

Watch Video Solution

, x < 8

x < 8

54. For each of the following pairs of sets , identify the

disjoint and overlapping sets: 

C= {x: x  x is a multiple

of 5}

Watch Video Solution

∈ N, x < 10} and D = {x : x ∈ N,

https://dl.doubtnut.com/l/_oDyKITt17mC2
https://dl.doubtnut.com/l/_ic0DAbjahi5X
https://dl.doubtnut.com/l/_slvLnVGagDwE


55. For each of the following pairs of sets , identify the

disjoint and overlapping sets: 

E = {x: x 4n,  } and F = {x: x = 9 n , }

Watch Video Solution

n ∈ N n ∈ N

56. For each of the following pairs of sets , identify the

disjoint and overlapping sets: 

G= { x: x = 8n,

Watch Video Solution

n ∈ N and n < 7} and H = {x : x = 9n, n ∈ N and n < 7}

57. State whether the given statement is true or false : 

If A is the set of all non- negative integers, then 0 ∈ A.

https://dl.doubtnut.com/l/_huSUlvWjpiSG
https://dl.doubtnut.com/l/_gJMfwZlYBnmq
https://dl.doubtnut.com/l/_wa6cdB1Kxctx


Watch Video Solution

58. State in each case, whether the given statement is true

or false : 

If B is the set of all consonants , then 

Watch Video Solution

c ∈ B.

59. State whether the given statement is true or false : 

If C is the set of all prime numbers , less than 80, then

Watch Video Solution

57 ∈ C.

https://dl.doubtnut.com/l/_wa6cdB1Kxctx
https://dl.doubtnut.com/l/_96zqQmeT9Rtb
https://dl.doubtnut.com/l/_99hH48KZNedZ


60. State in each case, whether the given statement is true

or false : 

 is a singleton set.

Watch Video Solution

{x : x ∈ W , x + 5 = 5}

61. State in each case, whether the given statement is true or

false : 

If D ={ then n(D) = 4.

Watch Video Solution

x : x ∈ W , x < 4},

62. State in each case, whether the given statement is true

or false : 

[a,b,c,1,2,3} is not a set.

https://dl.doubtnut.com/l/_N84bgtQhmUea
https://dl.doubtnut.com/l/_ZZ8b2S2pYCE2
https://dl.doubtnut.com/l/_HIHy7g4DQyWC


Watch Video Solution

63. State in each case, whether the given statement is true

or false : 

[1,2,3,1,2,3,1,2,3,……..] is an infinite set.

Watch Video Solution

64. State in each case, whether the given statement is true

or false : 

Watch Video Solution

0 ∈ ϕ

https://dl.doubtnut.com/l/_HIHy7g4DQyWC
https://dl.doubtnut.com/l/_qqvfLFxTBD04
https://dl.doubtnut.com/l/_XUPj2FRH2ZU1


Exercise 6 B

65. State in each case, whether the given statement is true

or false : 

Watch Video Solution

[3, 5] ∈ [1, 3, 5, 7, 9]

1. Indicate whether the given statement is true or false : 

[Triangles )  (Quadrilaterals )

Watch Video Solution

⊆

https://dl.doubtnut.com/l/_c5z6iIPniV3y
https://dl.doubtnut.com/l/_VTm0ztJRHgkK


2. Indicate whether the given statement is true or false : 

(squares )  (Rectangles )

Watch Video Solution

⊆

3. Indicate whether the given statement is true or false : 

[Rhombuses ) {Parallelograms }

Watch Video Solution

⊆

4. Indicate whether the given statement is true or false : 

[Natural numbers]  {Whole numbers }

Watch Video Solution

⊆

https://dl.doubtnut.com/l/_PXrzaU1K3sjo
https://dl.doubtnut.com/l/_lIlgExKdzAbq
https://dl.doubtnut.com/l/_URj58CSgF6aS
https://dl.doubtnut.com/l/_TYluwK7fLLzA


5. Indicate whether the given statement is true or false : 

{ Integers }  {Whole numbers }

Watch Video Solution

⊆

6. Indicate whether the given statement is true or false : 

{Composite number }  {Odd numbers}

Watch Video Solution

⊆

7. Write down all possible subsets of each of the sets given

below : 

{1}

Watch Video Solution

https://dl.doubtnut.com/l/_TYluwK7fLLzA
https://dl.doubtnut.com/l/_5nrO8SQYRj5a
https://dl.doubtnut.com/l/_xlClQrMrCwqN


8. Write down all possible subsets of each of the sets given

below : 

{3,4}

Watch Video Solution

9. Write down all possible subsets of each of the sets given

below : 

{ 2,3,5}

Watch Video Solution

10. Write down all possible subsets of each of the sets given

below : 

ϕ

https://dl.doubtnut.com/l/_Jl4POjZd9VhT
https://dl.doubtnut.com/l/_xF6XxyI1YB3k
https://dl.doubtnut.com/l/_wpZMCaoVGb3e


Watch Video Solution

11. Write down all possible subsets of each of the sets given

below : 

{c,d,e}

Watch Video Solution

12. Write down all possible subsets of each of the sets given

below : 

{a,b,c,d}

Watch Video Solution

https://dl.doubtnut.com/l/_wpZMCaoVGb3e
https://dl.doubtnut.com/l/_2Yqz8jvX9pBv
https://dl.doubtnut.com/l/_0CykVwZRFEKp


13. Write down all possible proper subsets of each of the

sets given below : 

{x}

Watch Video Solution

14. Write down all possible proper subsets of each of the

sets given below : 

{p,q}

Watch Video Solution

15. Write down all possible proper subsets of each of the

sets given below : 

{m,n,p}

https://dl.doubtnut.com/l/_IOkxdwtVZWwp
https://dl.doubtnut.com/l/_jizjFF8rFaQR
https://dl.doubtnut.com/l/_zNxQh1gazxGM


Watch Video Solution

16. Write down all possible proper subsets of each of the

sets given below : 

{1,2,3,4}

Watch Video Solution

17. Write down : 

The sets C of letters of the word ' PAPAYA '

Watch Video Solution

https://dl.doubtnut.com/l/_zNxQh1gazxGM
https://dl.doubtnut.com/l/_hzALjI9cuQvV
https://dl.doubtnut.com/l/_JwT8u7Ks4s3n


18. Write down : 

All subsets of C , C={P,A,Y}

Watch Video Solution

19. The set  is letters of the word,  


Write down : 

All proper subsets of C .

Watch Video Solution

C PAPAYA

20. How many subsets in all are there of a set containing 4

elements ?

Watch Video Solution

https://dl.doubtnut.com/l/_HErvvczCN7NK
https://dl.doubtnut.com/l/_rrQvXQnONRFL
https://dl.doubtnut.com/l/_ujuy6uOvc40a


21. How many subsets in all are there of a set with cardinal

number 6?

Watch Video Solution

22. How many proper subsets in all are there of a set

containing 3 elements ?

Watch Video Solution

23. How many proper subsets in all are there of a set with

cardrinal number 5?

Watch Video Solution

https://dl.doubtnut.com/l/_ujuy6uOvc40a
https://dl.doubtnut.com/l/_KZPnD3gzZWlJ
https://dl.doubtnut.com/l/_WiUHm8IUEXMZ
https://dl.doubtnut.com/l/_fUnEWVZyrEZX


24. Which of the following statements are true ? 

Watch Video Solution

{a} ⊂ {a, b, c, }

25. Which of the following statements are true ? 

{a} 

Watch Video Solution

⊂ {b, c, d, e}

26. Which of the following statements are true ? 

Watch Video Solution

ϕ ⊂ {a, b, c}

https://dl.doubtnut.com/l/_k7axby7C7ZAs
https://dl.doubtnut.com/l/_sHtSkOfpIH1n
https://dl.doubtnut.com/l/_Y9W9yxZgVM0h
https://dl.doubtnut.com/l/_RXyPFpPJoRTu


27. Which of the following statements are true ? 

Watch Video Solution

ϕ ∈ {a, b, c}

28. Which of the following statements are true ? 

Watch Video Solution

0 ∈ ϕ

29. Which of the following statements are true ? 

Watch Video Solution

{1} ⊂ {0, 1}

https://dl.doubtnut.com/l/_RXyPFpPJoRTu
https://dl.doubtnut.com/l/_m426j4427vdb
https://dl.doubtnut.com/l/_CVB9fHbHRatm


30. Which of the following statements are true ? 

Every subset of a finite set is finite.

Watch Video Solution

31. Which of the following statements are true ? 

Every subset of an infinite set is infinite.

Watch Video Solution

32. Let  


Write the subset of A containing: 

all odd numbers

Watch Video Solution

A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, }

https://dl.doubtnut.com/l/_rFF1rFlLZtuY
https://dl.doubtnut.com/l/_Zji9BQ2Ivj2t
https://dl.doubtnut.com/l/_1rj5PBVwVliJ


33. Let  


Write the subset of A containing: 

all prime numbers

Watch Video Solution

A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, }

34. Let  


Write the subset of A containing: 

all multiples of 4.

Watch Video Solution

A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, }

35. Let U=  be the

universal set and let A = ( 5, 7, 11 , 13 } ,B = { 6,8 , 10 , 12 , 14, 16)

{5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16}

https://dl.doubtnut.com/l/_1rj5PBVwVliJ
https://dl.doubtnut.com/l/_TAldfdggvSJV
https://dl.doubtnut.com/l/_pFVZj9oUdSyZ
https://dl.doubtnut.com/l/_FqBaLKWUuH8n


and C = ( 5,6,8, 10 , 11, 12 } 

be its subsets . 

Find 

(i) A' (ii) B' (iii) C'

Watch Video Solution

36. Let the set I of all integers be the universal set and let 

A ={x: x is a negative integers be its subset . Find A'.

Watch Video Solution

37. Suggest a universal set for the sets given below : 

(5,7,9) , (3,5,7) ,(1,3,9) and ( 2,4,8)

Watch Video Solution

https://dl.doubtnut.com/l/_FqBaLKWUuH8n
https://dl.doubtnut.com/l/_GG7rhvcuYQHJ
https://dl.doubtnut.com/l/_J9Sry2poVDfd


Exercise 6 C

38. Suggest a universal set for the sets given below : 

[ odd number less than 8], [Prime numbers less than 8] and

(even numbers between 3 and 8 ].

Watch Video Solution

39. Suggest a universal set for the sets given below : 

[vowels in English alphabet), (consonants in English

alphabet).

Watch Video Solution

https://dl.doubtnut.com/l/_J9Sry2poVDfd
https://dl.doubtnut.com/l/_jpZ6HJtXowAd
https://dl.doubtnut.com/l/_En7gg1sXH2Pj


1. Let A = {2,4,6,8 },B = { 6,8,10 ,12} and C = {7,8,9,10 } Find . 

Watch Video Solution

A ∪ B

2. Let A = [2,4,6,8 ],B = { 6,8,10 ,12} and C = {7,8,9,10 } Find . 

Watch Video Solution

A ∪ C

3. Let A = [2,4,6,8 ],B = { 6,8,10 ,12} and C = {7,8,9,10 } Find . 

Watch Video Solution

B ∪ C

https://dl.doubtnut.com/l/_5XnbvGAdTgzR
https://dl.doubtnut.com/l/_WrVKtrsTpBBL
https://dl.doubtnut.com/l/_rL5fyNKZ0cVR
https://dl.doubtnut.com/l/_7fbnv0ELnfld


4. Let A = [2,4,6,8 ],B = { 6,8,10 ,12} and C = {7,8,9,10 } Find . 

Watch Video Solution

A ∩ B

5. Let A = [2,4,6,8 ],B = { 6,8,10 ,12} and C = {7,8,9,10 } Find . 

Watch Video Solution

A ∩ C

6. Let A = [2,4,6,8 ],B = { 6,8,10 ,12} and C = {7,8,9,10 } Find . 

Watch Video Solution

B ∩ C

https://dl.doubtnut.com/l/_7fbnv0ELnfld
https://dl.doubtnut.com/l/_emHcBWHZ3LfO
https://dl.doubtnut.com/l/_Kq5Odi8J4ezX


7. Let P = { x: x is a factor of 18 } and Q = { x : x is a factor of

24}. 

Write each one of P and Q in Roster form.

Watch Video Solution

8. Let P = { x: x is a factor of 18 } and Q = { x : x is a factor of

24}. 

Find : (a)  


(b) 

Watch Video Solution

P ∪ Q

P ∩ Q

9. Let A  , verify

that : 

= (a, b, c), B = (b, d, e) and C = (e, f, g)

https://dl.doubtnut.com/l/_lRsJz3mbXOt9
https://dl.doubtnut.com/l/_jJsqft17u25A
https://dl.doubtnut.com/l/_Ur88V5xySt33


Watch Video Solution

A ∪ B = B ∪ A

10. Let A  ,

verify that : 

Watch Video Solution

= (a, b, c), B = (b, d, e) and C = (e, f, g)

(A ∪ B) ∪ C = A ∪ (B ∪ C)

11. Let A  ,

verify that : 

Watch Video Solution

= (a, b, c), B = (b, d, e) and C = (e, f, g)

A ∩ B = B ∩ A

https://dl.doubtnut.com/l/_Ur88V5xySt33
https://dl.doubtnut.com/l/_QBXj0EPH8ZKQ
https://dl.doubtnut.com/l/_bH1yPxCN3C3o
https://dl.doubtnut.com/l/_Qn422Q5PONYp


12. Let A  ,

verify that : 

Watch Video Solution

= (a, b, c), B = (b, d, e) and C = (e, f, g)

(A ∩ B) ∩ C = A ∩ (B ∩ C)

13. Let A = { x: x is a multiple of 2, x < 15 } , 

B = {x:x is a multiple of 3,x < 20 }, 

C = { x : x is a prime x < 20 }, 

Write each one of the sets A ,B ,C in Roster form.

Watch Video Solution

14. Let A = { x: x is a multiple of 2, x < 15 } , 

B = {x:x is a multiple of 3,x < 20 }, 

https://dl.doubtnut.com/l/_Qn422Q5PONYp
https://dl.doubtnut.com/l/_zBQeaDTYzjEh
https://dl.doubtnut.com/l/_fFPjxmlFtn6r


C = { x : x is a prime x < 20 }, 

Find 

(a) 

Watch Video Solution

A ∪ B(b)A ∪ C(c)B ∪ C(d)A ∩ B(e)A ∩ C(f)B ∩ C

15. Let A = { b,d,e,f }, B = { c,d,g,h} and C = {e,f,g,h} .Find : 

A- B

Watch Video Solution

16. Let A = { b,d,e,f }, B = { c,d,g,h} and C = {e,f,g,h} .Find : 

B-C

Watch Video Solution

https://dl.doubtnut.com/l/_fFPjxmlFtn6r
https://dl.doubtnut.com/l/_ddhoAzJZVxjR
https://dl.doubtnut.com/l/_9gkXJRGKlcyx
https://dl.doubtnut.com/l/_WqocERoEem1t


17. Let A = { b,d,e,f }, B = { c,d,g,h} and C = {e,f,g,h} .Find : 

C -A

Watch Video Solution

18. Let A = { b,d,e,f }, B = { c,d,g,h} and C = {e,f,g,h} .Find : 

Watch Video Solution

(A − B) ∪ (B − A)

19. Let A = { b,d,e,f }, B = { c,d,g,h} and C = {e,f,g,h} .Find : 

Watch Video Solution

(B − C) ∪ (C − B)

https://dl.doubtnut.com/l/_WqocERoEem1t
https://dl.doubtnut.com/l/_SlqED2Aif8Y5
https://dl.doubtnut.com/l/_32lKgEYk5wDf
https://dl.doubtnut.com/l/_uEfQMbOxMP3D


20. Let U= { 1,2,3,4,5,6,7,8,9,10 } be the universal set and let A =

{2,3,4,5,6} and B = { 3,5,7,8} be its subsets . 

Find A'

Watch Video Solution

21. Let U= { 1,2,3,4,5,6,7,8,9,10 } be the universal set and let A =

{2,3,4,5,6} and B = { 3,5,7,8} be its subsets . 

Find B'

Watch Video Solution

22. Let U= { 1,2,3,4,5,6,7,8,9,10 } be the universal set and let A =

{2,3,4,5,6} and B = { 3,5,7,8} be its subsets . 

Find A' ∩ B'

https://dl.doubtnut.com/l/_uEfQMbOxMP3D
https://dl.doubtnut.com/l/_OCm0p96Kj87p
https://dl.doubtnut.com/l/_lxEyCgicDatv


Watch Video Solution

23. Let U= { 1,2,3,4,5,6,7,8,9,10 } be the universal set and let A =

{2,3,4,5,6} and B = { 3,5,7,8} be its subsets . 

Find 

Watch Video Solution

A' ∪ B'

24. Let U= { 1,2,3,4,5,6,7,8,9,10 } be the universal set and let A =

{2,3,4,5,6} and B = { 3,5,7,8} be its subsets . 

Verify that : 

Watch Video Solution

(A ∪ B)' = (A' ∩ B' )

https://dl.doubtnut.com/l/_lxEyCgicDatv
https://dl.doubtnut.com/l/_j6PmOewh3m8Y
https://dl.doubtnut.com/l/_nSsB9xdVFVcV


25. Let U= { 1,2,3,4,5,6,7,8,9,10 } be the universal set and let A =

{2,3,4,5,6} and B = { 3,5,7,8} be its subsets . 

Verify that : 

Watch Video Solution

(A ∪ B)' = (A' ∩ B' )

26. Let U= {a,b,c,d,e,f,g} be the universal set and let its

subsets be A = {a,b,d,e} and B = {b,e,g} 

Verify that : 

Watch Video Solution

(A ∪ B)' = (A' ∩ B' )

27. Let U= {a,b,c,d,e,f,g} be the universal set and let its

subsets be A = {a,b,d,e} and B = {b,e,g} 

Verify that : (A ∩ B)' = (A' ∪ B' )

https://dl.doubtnut.com/l/_kIlVFz4KV5Vk
https://dl.doubtnut.com/l/_lzPxj9LDjTem
https://dl.doubtnut.com/l/_iQlQatauXwcy


Watch Video Solution

28. Let U ={3,6,9,12,15,18,21,24 } be the universal set and let 

A = {6,12,18,24} be its subset. 

Verify that 

Watch Video Solution

A ∪ A = A

29. Let U ={3,6,9,12,15,18,21,24 } be the universal set and let 

A = {6,12,18,24} be its subset. 

Verify that 

Watch Video Solution

A ∩ A = A

https://dl.doubtnut.com/l/_iQlQatauXwcy
https://dl.doubtnut.com/l/_NBCCRUmMa5Fo
https://dl.doubtnut.com/l/_rt2i3GINFRH1


30. Let U ={3,6,9,12,15,18,21,24 } be the universal set and let 

A = {6,12,18,24} be its subset. 

Verify that 

Watch Video Solution

A ∩ A' = ϕ

31. Let U ={3,6,9,12,15,18,21,24 } be the universal set and let 

A = {6,12,18,24} be its subset. 

Verify that 

Watch Video Solution

A ∪ A' = U

32. Let U ={3,6,9,12,15,18,21,24 } be the universal set and let 

A = {6,12,18,24} be its subset. 

Verify that (A' )' = A

https://dl.doubtnut.com/l/_2T24uzX6n4bp
https://dl.doubtnut.com/l/_yUxCidUZiJgH
https://dl.doubtnut.com/l/_HqmxqS2PQKcn


Exercise 6 D

Watch Video Solution

1. Let A and B be two sets such that

 Draw a Venn

diagram and find 

Watch Video Solution

n(A) = 52, n(B) = 60 and n(A ∩ B) = 16.

n(A ∪ B)

2. Let A and B be two sets such that

 Draw a Venn

diagram and find 

n(A) = 52, n(B) = 60 and n(A ∩ B) = 16.

n(A − B)

https://dl.doubtnut.com/l/_HqmxqS2PQKcn
https://dl.doubtnut.com/l/_A3uUiaNT4jIY
https://dl.doubtnut.com/l/_4as0RITN37F8


Watch Video Solution

3. Let A and B be two sets such that

 Draw a Venn

diagram and find 

Watch Video Solution

n(A) = 52, n(B) = 60 and n(A ∩ B) = 16.

n(B − A)

4. Let P and Q be two sets such that

 Draw a Venn

diagram and find : 

Watch Video Solution

n(P ∪ Q) = 70, n(P ) = 45 and n(Q) = 38,

n(P ∩ Q)

https://dl.doubtnut.com/l/_4as0RITN37F8
https://dl.doubtnut.com/l/_cT0CdQCAegeQ
https://dl.doubtnut.com/l/_tK1bmcxBRE5g


5. Let P and Q be two sets such that

 Draw a Venn

diagram and find : 

Watch Video Solution

n(P ∪ Q) = 70, n(P ) = 45 and n(Q) = 38,

n(P − Q)

6. Let P and Q be two sets such that

 Draw a Venn

diagram and find : 

Watch Video Solution

n(P ∪ Q) = 70, n(P ) = 45 and n(Q) = 38,

n(Q − P )

https://dl.doubtnut.com/l/_Cld2do8dZm9R
https://dl.doubtnut.com/l/_8C2p9nnTDBOL


7. In a city , here are 25 Hindi medium schools , 18 English

medium schools and 7 schools have both the medium . Find 

how many schools are there in all in the city

Watch Video Solution

8. In a city , here are 25 Hindi medium schools , 18 English

medium schools and 7 schools have both the medium . Find 

how many schools have Hindi medium only :

Watch Video Solution

9. In a city , here are 25 Hindi medium schools , 18 English

medium schools and 7 schools have both the medium . Find 

how many schools have English medium only :

https://dl.doubtnut.com/l/_DWhLEOMLqQa1
https://dl.doubtnut.com/l/_MyW4wSHXXmFN
https://dl.doubtnut.com/l/_fCPtkMY8AgMk


Watch Video Solution

10. There is a group of 50 persons who can speak English or

Tamil or both. Out of these persons , 37 can speak English

and 30 cm speak Tamil. 

How many can speak both English and Tamil

Watch Video Solution

11. There is a group of 50 persons who can speak English or

Tamil or both. Out of these persons , 37 can speak English

and 30 cm speak Tamil. 

How many can speak English only ?

Watch Video Solution

https://dl.doubtnut.com/l/_fCPtkMY8AgMk
https://dl.doubtnut.com/l/_gED17YDM6bKH
https://dl.doubtnut.com/l/_wXDlk9NLRNzy


12. There is a group of 50 persons who can speak English or

Tamil or both. Out of these persons , 37 can speak English

and 30 cm speak Tamil. 

How many can speak both English and Tamil

Watch Video Solution

13. In a class of 40 students , each one plays either Tennis or

Badminton or both. If 28 plays Tennis and 26 play Badminton

,find 

How many play both the games.

Watch Video Solution

https://dl.doubtnut.com/l/_L5mnGGOunayA
https://dl.doubtnut.com/l/_aJfQY3no4oYn


14. In a class of 40 students , each one plays either Tennis or

Badminton or both. If 28 plays Tennis and 26 play Badminton

,find 

How many play Tennis only:

Watch Video Solution

15. In a class of 40 students , each one plays either Tennis or

Badminton or both. If 28 plays Tennis and 26 play Badminton

,find 

How many play Badminton only.

Watch Video Solution

https://dl.doubtnut.com/l/_bMlINCUyK35e
https://dl.doubtnut.com/l/_v8lMCM9BkvBN


16. In a class of 45 pupils ,21 play chess , 23 play cards and 5

play both the games . Find 

how many do not play any of the games,

Watch Video Solution

17. In a class of 45 pupils ,21 play chess , 23 play cards and 5

play both the games . Find 

how many play chess play ,

Watch Video Solution

18. In a class of 45 pupils ,21 play chess , 23 play cards and 5

play both the games . Find 

how many play cards only ,

https://dl.doubtnut.com/l/_tfIXvUTZf0Ks
https://dl.doubtnut.com/l/_PPM93aNQnRBE
https://dl.doubtnut.com/l/_fPXwmS3pH7GQ


Watch Video Solution

19. In a group of 36 girls , each one can either stitch or

weaves or can do both . If 25 girls can stitch and 17 can stitch

only , how many can weaves only ?

Watch Video Solution

20. In a group of 24 children , each one play cricket or hockey

or both. If 16 play cricket and 12 play cricket only , find how

many play hockey only.

Watch Video Solution

https://dl.doubtnut.com/l/_fPXwmS3pH7GQ
https://dl.doubtnut.com/l/_pPwsDjmBsoKP
https://dl.doubtnut.com/l/_BTEjVMcLvFeD


21. In a group of 40 persons ,10 drinks tea but not coffee and

26 drinks tea. How many drink coffee but not tea ?

Watch Video Solution

22. All the people in a locality read the daily newspaper

Indian Express or Hindustan Times or both If 120 read Indian

Express and 150 read Hindustan Times and 36 read both ,

find , 

how many people are there in the locality.

Watch Video Solution

23. All the people in a locality read the daily newspaper

Indian Express or Hindustan Times or both If 120 read Indian

https://dl.doubtnut.com/l/_3WM8k8OnKEzh
https://dl.doubtnut.com/l/_dVKAqOSpeh18
https://dl.doubtnut.com/l/_68vBtGiyLZcy


Express and 150 read Hindustan Times and 36 read both ,

find , 

how many people read only Indian Express.

Watch Video Solution

https://dl.doubtnut.com/l/_68vBtGiyLZcy

